

$$a x a q a q^r \rightarrow a + a q + a q^r = 11$$

1

$$a^k q^k = 4^k \rightarrow a q = \varepsilon \rightarrow a = \frac{\varepsilon}{q}$$

$$\frac{\varepsilon}{q} (1 + q + q^r) = 11$$

g-c for 25 cases

$$\varepsilon (1 + q + q^r) = 11 q \rightarrow \varepsilon q^r + \varepsilon q + \varepsilon - 11 q = 0 \rightarrow \varepsilon q^r - 11 q + \varepsilon = 0$$

$$q = 11 \pm \sqrt{11 q - q^r} = 11 \pm 1 q = \frac{1}{\varepsilon}$$

$$b^r = a c \rightarrow r x^r = (x^r - 1) (x^r + \varepsilon)$$

2

$$r x^r = x^r \varepsilon + 1 x^r - 1 \quad \text{collide} = x^r = y$$

$$x^r - 1 x^r - 1 = 0$$

$$y^r - 1 y - 1 = 0 \rightarrow y(y - \varepsilon)(y + 1) = 0 \rightarrow y = -1 \quad y = \varepsilon$$

$$x^r = \varepsilon \rightarrow x = \pm 1$$

$$r + r + 1 = 15$$

$$\boxed{x = 1} \quad \text{sum} = \frac{1 - q^n}{1 - q} = 14 \times 11 = 154$$

$$5 a = a \frac{q^a - 1}{q - 1}$$

$$\rightarrow 1 + q + q^r + q^k + q^{\varepsilon} = \frac{q^a - 1}{q - 1} = \frac{11}{1}$$

3

$$q^0 - 1 = \frac{11}{1} (q - 1) \rightarrow 11 q^0 - 11 = 11 q - 11$$

$$11 q^0 - 11 q + 11 = 0 \quad q = \frac{11}{q} \rightarrow q = \frac{11}{q} \left(\frac{11}{q} \right)^a - 1$$

$$\rightarrow \frac{11}{q} - 1$$

$$11 \times 11 \times \frac{11}{11} = 11$$

$$A = \frac{1 + \mu F}{\mu} = \mu \rho / d \quad B = \sqrt{\mu F} = 1$$

$$A + B = \mu \rho / d + 1 = \boxed{50/d}$$

4

$$-14, -\frac{9d}{\varepsilon}, \dots, -\frac{9d}{F} - \left(-\frac{\mu F}{\varepsilon}\right) = -\frac{9d}{\varepsilon} + \frac{9d}{F} = \frac{1}{F}$$

5

$$121, a_2, \dots, a_n = a_1 + (n-1)d \rightarrow -\mu F + (100) \frac{1}{\varepsilon} = \boxed{1}$$

$$a_n = a_1 + (n-1)d \rightarrow \mu F \neq \dots \rightarrow 121 \times d^{100} \dots$$

$$a_{101} = a_1 + 100d \rightarrow 1 = 121 + 100d \rightarrow d = \frac{1}{121} = \frac{1}{F}$$

$$a + \mu d, a + \mu^2 d, a + \mu^3 d \quad a_{\mu^3} = a_{\mu} \times a_{\mu}$$

6

$$(a + \mu)^3 = (a + \mu)(a + \mu^2) \rightarrow \mu a d + \mu^2 a d = 0 \quad \mu d(a + \mu^2) = 0$$

$$d = \boxed{\frac{-a}{10}}$$

$$a + d, a + \mu d, a + \mu^2 d \quad \mu a, \varepsilon a, \mu a \quad q = \mu \quad a_1 = \mu$$

7

$$(a + \mu^2 d)^3 = (a + d)(a + \mu d) \rightarrow \mu d^3 - \mu a d = 0$$

$$\mu d(d^2 - a) = 0$$

$$\boxed{d = a}$$

$$a_{10} = \frac{1}{F} \times \mu^9 = \boxed{121}$$

$$\mu a q, \mu a q^2, a q^3 \quad \mu a q^2 = \frac{\mu a q + a q^3}{2} \rightarrow \varepsilon a q^2 = \frac{\mu a q + a q^3}{2}$$

$$\varepsilon q^2 = \mu q + q^3 \rightarrow q^3 - \varepsilon q^2 + \mu q = 0 \rightarrow q(q^2 - \varepsilon q + \mu)$$

$$(q - \mu)(q - 1)$$

$$q = 0 \quad \left\{ \begin{array}{l} q = 1 \\ q = \mu \end{array} \right.$$

Senobar



Year: Month: Day:

$$d = a_F - a_1 = \frac{V}{F} - \frac{V_F}{1 \times \epsilon} = -\frac{1}{F}$$

$$a_F = \frac{V + V \left(\frac{1}{F} \right)}{\frac{V + V}{1} \frac{1}{F}} = \frac{d}{\epsilon} \rightarrow a_1 = V + 1V \left(-\frac{1}{\epsilon} \right) = -1$$

$$a_F + K \quad a_1 + K \quad a_{1V} + K$$

$$(a_1 + K)^V = (a_F + K)(a_{1V} + K) \rightarrow \left(\frac{1}{\epsilon} + K \right)^V = \left(\frac{d}{\epsilon} + K \right)(-1 + K)$$

$$K^V + \frac{1}{V} K + \frac{1}{14} = K^V + \frac{1}{\epsilon} K - \frac{d}{\epsilon} \quad \boxed{K = -\frac{V}{\epsilon}} \quad d = \frac{d}{\epsilon}$$

$$d = \frac{\frac{1}{\epsilon} - \frac{V}{F} = d}{\frac{d}{\epsilon} - \frac{V}{F} = F} = \frac{d}{\epsilon}$$

$$a + aq^V + aq^4 = V^V \quad a_F = aq^V \rightarrow a + d = aq^V \rightarrow d \rightarrow a(q^V - 1) \quad 10$$

$$aq^4 = a + q[a(q^V - 1)] \rightarrow aq^4 = a(q^V - 1) \rightarrow x^V = qx - 1$$

$$x^V - qx + 1 = 0$$

$$(x-1)(x-1) = 0$$

$$x = 1, x = 1$$

$$q = V$$

$$a(1 + q^V + q^4) = V^V$$

$$a(1 + 1 + V) = V^V$$

$$a = 1 \quad V^V \quad d = 1(1-1) = V$$